2009 AP® STATISTICS FREE-RESPONSE QUESTIONS

STATISTICS
SECTIONII
Part B
Question 6
Spend about 25 minutes on this part of ihe exam,
Percent of Section Il score—25

Directions: Show all your work. Indicate clearly the methods you use, because you will be graded on the
correctness of your methods as well as on the accuracy and completeness of your results and explanations.

6. A consumer organization was concerned that an autornobile manufacturer was misleading customers by
overstating the average fuel efficiency (measured in miles per gallon, or mpg) of a particular car model. The
model was advertised to get 27 mpg. To investigate, researchers selected a random sample of 10 cars of that
model. Each car was then randomly assigned a different driver. Each car was driven for 5,000 miles, and the
total fuel consumption was used to compuie mpg for that car,

(a) Define the parameter of interest and state the null and alternative hypotheses the consumer organization is
interested in testing,

Cne condition for conducting a one-sample stest in this situation is that the mpg measurements for the
population of cars of this model should be normally distributed. However, the boxplot and histogram shown
below indicate that the distribution of the 10 sample values is skewed to the right.
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(b} One possible statistic that measures skewness is the ratio . What values of that statistic

sample median

(small, large, close to one) might indicate that the population distribution of mpg values is skewed to the
right? Explain.
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2009 AP® STATISTICS FREE-RESPONSE QUESTIONS

(c) Even though the mpg values in the sample were skewed to the righ, it is still possible that the population
distribution of mpg values is normally distributed and that the skewness was due to sampling variability.
To investigate, 100 samples, each of size 10, were taken from a normal distribution with the same mean and
sample mean

standard deviation as the original sample. For each of those 100 samples, the statistic -
sample median

calculated. A dotplot of the 100 simulated statistics is shown below.
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In the original sample, the value of the statistic _sample mean_ nean
sample median

the dotplot above, is it plausible that the original sample of 10 cars came from a normal population, or do the
simulated results suggest the original population is really skewed to the right? Explain.

was 1.03. Based on the value of 1.03 and

(d) The table below shows summary statistics for mpg measurements for the original sample of 10 cars,

Minimum | Q1 | Median | Q3 | Maximum
23 24 25.5 28 32

Choosing only from the summary statistics in the table, define a formula for a different statistic that
measures skewness.

‘What values of that statistic might indicate that the distribution is skewed to the right? Explain.

STOP

END OF EXAM

@ 2009 The College Board. All rights reserved.
Visit the College Board on the Web: www.collegeboard.com.

-10-



2009 #Hb

_ W] We wint 4o Know e TRUE AVERA GE

Mpq E:n—rﬂ”ne Lo in aues‘fm.
7 W u=27

Ho: Al < 37

ans the Meon s fmr}m{‘ ey
«V\ae mf;(;nag So }’he ﬁa‘)"-t‘l"rc, 5Mﬂt£’megm ;.).‘l’

ﬁahﬂif Me(_l

qe+ }a(q&( 0s ’f{\& o\x“h \nu'?’m ae'fs Mofe. Qkfu)&J

F o]
J

f{nrs B—4 J)&‘(CL pmb)em 19+ u)a‘\'o\n

LL\. 1}\& &-3’)’{‘54‘}'% is /UDFNHL fsf«**fr/ ’3

LhL ﬂe Aux‘,'( hdjrem 3 skeu)ee\ Rmh rfl‘fd;fg,m]

= _6_Qma‘}i{¢\:mjb\ Mefe  exfeme TV

p"\f«ﬁ Jg == ‘ﬁ\e nrdmbjiﬁjﬂL 7jg)l’luj' a+ o{

e ﬂut S Hoe ™

Sain Lp_ﬁah)ﬂ*m_ﬂfLM&Jﬁ_&ﬁﬁ = fafje( o 103

—g;.ﬁr & lodets So 41:10,@\10_ =14

| Smo& %c D \fa.Qu..L u.lq }@(_ﬂnn_anq a/ Dl'm lNe,l

T could hwe_p z,keA Ahele s ﬁatﬁnmzjh_\ﬁm 'fo__
Bgal oAb ﬂu\\ ﬂde}ﬂfw

J_\ZDJMLLO w6 bd‘hm




.
3
I o
=3 ,
{ )
X
== 'l
£
: — -
=
% -
—_ .
T ¢ ¢ :
L “ 3
— ) by
\
5




0| Auswen .l taly bt dw tunking &

\

1 T

[N

MoA — fY\en\mn
Mdvmm—* Min




=

s

P




2011 AP® STATISTICS FREE-RESPONSE QUESTIONS (Form B)

STATISTICS
SECTION II
Part B
Question 6
Spend about 25 minutes on this part of the exam.
Percent of Section Il score—25

Directions: Show all your work. Indicate clearly the methods you use, because you will be scored on the
correctness of your methods as well as on the accuracy and completeness of your resulis and expianations.

6. Grass buffer strips are grassy areas that are planted between bodies of water and agricultural fields. These strips
are designed to filter out sediment, organic material, nutrients, and chemicals carried in runoff water. The figure
below shows a cross-sectional view of a grass buffer strip that has been planted along the side of a stream.

- Width —»

A study in Nebraska investigated the use of buffer strips of several widths between 5 feet and 15 feet. The study
results indicated a linear relationship between the width of the grass strip (x), in feet, and the amount of nitrogen
removed from the runoff water (y), in parts per hundred. The following model was estimated.

$ =338 +36x

(a) Interpret the slope of the regression line in the context of this question.

(b) Would you be willing to use this model to predict the amount of nitrogen removed for grass buffer strips
with widths between O feet and 30 feet? Explain why or why not.

A scientist in California wants to know if there is a similar relationship in her area. To investigate this, she will
place a grass buffer strip between a field and a nearby stream at each of eight different locations and measure the
amount of nitrogen that the grass buffer strip removes, in parts per hundred, from runoff water at each location.
Each of the eight locations can accommodate a buffer strip between 6 feet and 13 feet in width. The scientist
wants to investigate which combination of widths will provide the best estimate of the slope of the regression
line.
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Suppose the scientist decides to use buffer strips of width 6 feet at each of four locations and buffer strips of
width 13 feet at each of the other four locations. Assume the model, ¥ = 33.8 + 3.6x, estimated from the

Nebraska study is the true regression line in California and the observations at the different locations are
normally distributed with standard deviation of 5 parts per hundred.

(¢} Describe the sampling distribution of the sampie mean of the observations on the amount of nitrogen
removed by the four buffer strips with widths of 6 feet.

(d) Using your result from part (c), show how to construct an interval that has probability 0.95 of containing the
sample mean of the observations from four buffer strips with widths of 6 feet.

For the study plan being implemented by the scientist in California, the graph on the left below displays intervals
that each have probability 0.95 of containing the sample mean of the four observations for buffer strips of width
6 feet and for buffer strips of width 13 feet. A second possible study plan would use buffer strips of width 8 feet
at four of the eight locations and buffer strips of width 10 feet at the other four locations. Intervals that each have
probability 0.93 of containing the mean of the four observations for buffer strips of width 8 feet and for buffer
strips of width 10 feet, respectively, are shown in the graph on the right below.
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If data are collected for the first study plan, a sample mean will be computed for the four observations from
buffer strips of width 6 feet and 2 second sample mean will be computed for the four observations from buffer
strips of width 13 feet. The estimated regression line for those eight observations will pass through the two
sample means. If data are collected for the second study plan, a similar method will be used.

(e) Use the plots above to determine which study plan, the first or the second, would provide a better estimator
of the slope of the regression line. Explain your reasoning.

(f) The previous parts of this question used the assumption of a straight-line relationship between the width of
the buffer strip and the amount of nitrogen that is removed, in parts per hundred. Although this assumption
was motivated by prior experience, it may not be correct. Describe another way of choosing the widths of
the buffer strips at eight locations that would enable the researchers to check the assumption of a straight-
line refationship.

3STOP

END OF EXAM
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